
 

 

 

https://testzone.smartkeeda.com/Test/Pricing


 

 

Logical Reasoning Questions for CLAT Exam. 

CLAT Reasoning Quiz 12 

Directions: Read the questions carefully and choose the right answer. 

1. Select the one which is different from the other three responses. 

A. Cub      B. Duckling 

C. Puppy     D. Kitten 
 
2. Which Pair does NOT belong with the others? 

A. 343 : 7     B. 243 : 9 

C. 512 : 8     D. 216 : 6 

3. If 'books' is called 'watch', 'watch' is called 'bag', 'bag' is called 'dictionary' and 
'dictionary' is called 'window', which is used to carry the books ? 

A. dictionary     B. bag 

C. books     D. watch 

4. In a certain code PAUSE is written as OBVTD and SHIFT is written as RIJGS. How will 

THINK be written in the same code? 

A. UGHML     B. SIJMJ 

C. SIJOJ     D. SIJQJ 

5. Statements: 

All signs are crops. 

All crops are areas. 

Conclusions : 

I. Some crops being signs is a possibility. 

II. Some Crops are not areas.   

A. if only conclusion I follows.  

B. if only conclusion II follows. 



 

 

C. if either conclusion I or conclusion II follows. 

D. if neither conclusion I nor conclusion II follows. 

6. Demographer : People :: Philatelist : ? 

A. Fossils      B. Stamps 

C. Photography     D. Music 

7. Hritik is 7th ranks ahead of Aamir Khan in a class of 39. If Aamir Khan’s rank is 17th 

from the last, what is Hritik’s rank from the start? 

 

A. 10       B. 12 

C. 15       D. 16 

8. Pointing to a lady, Shahrukh said, “She is the daughter of the only child of my 

grandmother.” How is the lady related to Shahrukh? 

A. Sister      B. Niece 

C. Cousin      D. Data inadequate 

9. One morning, Rita started to walk toward the sun. After walking a while, she turned 

to her left and again to her left. After walking a while, she again turned right. Which 

direction is she facing now? 

A. East       B. West 

C. North      D. South 

10. Statement: 

Opening a library in Rambli will be a wastage. 

Assumptions: 

I. Inhabitants of Rambli are illiterate. 

II. Inhabitants of Rambli are not interested in reading. 

A. if only assumption I is implicit   B. if only assumption II is implicit 

C. if either I or II is implicit    D. if neither I nor II is implicit 

 



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

B B A C D B D A C D 

 

 
Explanations: 
 

1. Duckling is the young one of Duck (a bird). All other young ones of animals. 
Cub – Lion;  Puppy – Dog;  Kitten – Cat  
Hence, option B is correct. 
  
 

2.   In all other pairs, first number is the cube of the second. 
Hence, option B is correct. 
 
 

3.  Clearly. a 'bag' is used to carry the books but a 'bag' is called 'dictionary'. So, a 
dictionary  will be used to carry the books. 
Hence, option A is correct.  

 
 

4.    
P A U S E 
↓ ↓ ↓ ↓ ↓ 
–1 +1 +1 +1 –1 
↓ ↓ ↓ ↓ ↓ 
O B V T D 

 
And 
 
S H I F T 
↓ ↓ ↓ ↓ ↓ 
–1 +1 +1 +1 –1 
↓ ↓ ↓ ↓ ↓ 
R I J G S 

 
So, 
 
T H I N K 
↓ ↓ ↓ ↓ ↓ 
–1 +1 +1 +1 –1 
↓ ↓ ↓ ↓ ↓ 
S I J O J 



 

 

Hence, option C is correct. 
 
5.  Converse of first statement: ‘Some crops are signs.’ which is a surety and not a 

possibility. Hence, C1 does not follow. 
 
And conclusion II does not follow either as it’s given in the statement II that ‘All 
crops are areas.’ 
Hence, neither C1 nor C2 follows. 
Hence, option D is correct. 

 
 
6. As a demographer collects information about people, a philatelist collects 

stamps. 
 
  Hence, option B is correct. 
 
 
7. As seen in the figure, Aamir Khan’s rank is 17th from the bottom. 

Hritik is 7th ranks ahead of Aamir Khan’s ranks = 17 + 7 = 24. 
Hritik Ranks from the bottom = 24th 

 
   

So, Hritik's rank from the top = (Total number of students - Hritik's rank from the 
bottom) + 1 
⇒ 39 –  24 + 1 ⇒ 16th 
Hence, option D is correct. 

 
 
 
 



 

 

8. Only child of Shahrukh’s grandmother — Shahrukh’s father/mother. 
  Daughter of Shahrukh’s father/mother — Shahrukh’s sister. 

Hence, the option A is correct. 
 
 
9.   

 
 

It is clear from the diagram that now Rita is facing North. 
Hence, option C is correct.  

 
 
10. None is implicit. The statement only says that opening a library in Rambli would 

be a wastage. But it does not say why? I and II are only guesses. Maybe, opening 
a library in Rambli is a wastage because there is already a library there. (It is an 
example of a long-drawn conclusion.) 

 
Hence, option (D) is correct. 
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